0b-2,0.00.000 OtBan 6ynbao3epHbIn fver1

0B-2,0.06.000

0B-2,0.00.408-2 wrT. Z=

0b-2,0.01.000

KO 03.000-01

0Bb-2,0.00.61-1 wr.

Bont M12x35-16 wt. —KYH 00.623b6
anka M12-16 wr.

lWanba 12.65M-16 LwuT.

KO 13.000Y-2 wr.
KYH 00.623b

0B-2,0.00.001-4 wr.



Jluer 2

PBA L=0,6Mm-1 miT. PBJ 1=0,5-2 mr.

KVH 2000.00.005 b Py, e 2
BonT M16x50  PBJT1~0.8m-1 mrT— , = —
Faitka M16 S0 | » 7
Waii6a 16.65M—\ el S A » KO 11.000-01A-2 wr.
S " () /(/ y
- i 0 L7 & .
,!Z//' ‘/ ' 17 : onT M16x40-12 wr.
[ (_ g
MKY-0,8.01.618-1 wr. __| cke’j":&l((’{,.’[)" ; LWaii6a 16.651
KYH 00.623B “":!'V,” et / KYH 01.425-2 . Taika M16
40| KYH 01.003-4 wr.
_ bont M8x50-2 wr.
0B6-2,0.02.000 ] Fanka M8-2 wr.

/r,\/l/@

05-2,0..000 L 7\V)
p~=/ &
;

05-2,0.00.000 Cb OTtBaJj 0yaba03epHBII

KO 13.000Y-2 wr.

Bont M16x50
Fanka M16
LWanba 16.65I

KO 12.000



Oo6o3HaueHne HaumeHoBaHme KosmnuecTBo
0b-2,0.01.000 OTtBau 1
KO 03.000-01 JloH)XepOH JIEBBII 1
KO 03.000 JloHXepoH npasblil 1
KO 12.000 Tpyba pacnioprast 1
0b-2,0.02.000 Hagsecka 1
0b-2,0.04.000 [MTanen 2
I'T] 80.40.250.0001LIC(550) ['uapoumnuuap 1
KO 11.000-01A TpybonpoBosa 2
KO 13.000Y Och 2
0b-2,0.00.0001 Hox 4
I1KVY-0,8.01.618 ITanexn 1
KVH 00.623b HINavHT DpyKUHHBIN 10
KVYH 01.425 [Lmanka 2
KVH 01.003 [Ipokianka 4
0b-2,0.00.408 Cronop 2
0Bb-2,0.06.000 Och 2
0b-2,0.00.601 [Tanen 1
PBJ1 10.01.030 PBJ] 2 L=0,5m
PBJI 10.01.050 PB/] 1 L=0,6m
PBJ1 10.01.080 PBJ] 1 L=0,8m
I'OCT 7798-70 bonr M16x50.58.019 22
I'OCT 7798-70 Bonr M16x40.58.019 12
I'OCT 7798-70 Bont M8x50.58.019 2
I'OCT 5915-70 Iaitka M16-6H.5.019 26

l"aitka M8 DIN 2
I'OCT 6402-70 [aii6a 16.65I'.019 42
I'OCT 6402-70 [Taii6a 8.65I'.019 2
I'OCT 7786-81 Bont M12x35 16
I'OCT 5915-70 Iaitka M12.6H.5.019 16
I'OCT 6402-70 [lafi6a 12.651'.019 16
KVYH 2000.00.005 Konb1o pesunoBoe 10




